Paper: B.E_B.Tech

Set Name: |Item23

Exam Date: | 26 July 2022

Exam Shift: | 1

Langauge: | Telugu

Topic: Mathematics-Section A

Item No: 1

Question

D- 100101

Question

Type: MCQ

Question: f:R>ReIB fEBx)—f(x)=x. @535&33& a8 @DNY) BRocho @808, f(8)=7 owd,
fQ14) =

A: 4

B: 10

C: 11

D: 16

Topic: Mathematics-Section A

Item No: 2

Question

D- 100102

Question

Type: MCQ
O doredoths) o8 A a8 Hoths) z;=1+2i w58%&. OB égzﬁnm EOAS w02t

Question: | Sxobeesi™ (Baheso OAB od@xty B 938 a8 Dot 2, Re(z,) < 00w, o0& 7&° D&
Qezoz ?

A: arg z,=mw—tan"! 3

B: —k 4

' arg (z; —2z,)= —tan 3
C: | 22| = 10
D:

|221 - Zzl =5




Topic: Mathematics-Section A
Iltem No: 3
Question
D- 100103
Question
Type: MCQ

B $osBere S,

8x+y+dz=-2
Question: whyra=ll
AX—3y=p
1

8 ©0%HB FEFdenod, 8x+y+4z+2=080 $r08 (?\: 1% _EJ Hoth) BwE) Brdo :
A: 3\/3
B: 4
C: gsh

9
D: E
3
Topic: Mathematics-Section A
Item No: 4
Question
D- 100104
Question
Type: MCQ
Questi det (A)= —1580 ((A+1) (Adj (A)+1)) =4 8° A 03 2.8 2 X2 Ir®% ot od. o
uestion:

A% QEE Sorosto Ingo :
A: -1
B: 2
C: 1
D: _\/E
Topic: Mathematics-Section A

Iltem No:

5




Question
D- 100105
Question
Type: MCQ
= = = = 3 H0LH (938 B sk Ko BD e &

Question; y=1y=3,x=0, X—ya © 03633‘,“_ (e BP0 3 @C%Jé@&m ® Qe VO

a e :
A 3
B B
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D- 100106
Question
Type: MCQ

60 08050 n Hrreore EOAS Both e (Bhen SHdre 2, 22, 23, . Hb™ 4, 42, 43, ..,
Question: 25 n

835%08. o) 60+n Sore Tgr KBS JKeo (2) 8 wand, ) kh—-k) =

k=1

A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Item No: 7
Question ID: | 100107
Question
Type: MCQ




log, (1— x+ x2)+loge(1+x+x2) . [—'n- 'n']
o , E|—, —

. @330530 flx) = Secxy — Cosx 2 " 2)—1{0}

Question: Kk ) r=0
x=0 aﬂg @&)?D‘Jé&o wond, k =
A: 1
B: -1
C: e
D: 0
Topic: Mathematics-Section A
Iltem No: 8
Question
D- 100108
Question
Type: MCQ
fx) {x-l—a Koz x+1 » x<0 5
= X) = =
Question: R 2 |x — 4 x>0 S0 g(¥) (x —4)% +b s K= @&)QJ@‘O aiae.
(gof) (2) +(fog) (—2) =

A - 10
B 10
C 8
D -8
Topic: Mathematics-Section A
ltem No: 9

Question ID: 100109

Question Type: | MCQ

f(x) = ©HEoa.

x?’—x2+10x—7, L
—2x +1log, (b> — 4), x>1

Question:

x=158 flx) K6 Dend EOA GoGer, ©) b Devde BHWS :




A: (-6, —2)
B: 2, 6)

C: |—6;: —2) i (2, 6]

D: [—\/E, —2) L (2Jr ‘\/g]
Topic: Mathematics-Section A

Item No: 10

Question ID: 100110

Question Type: | MCQ

. = 2n f 1 — cosx
Question: a= lim —— HBow f(x) = [———m, 0, 1), OO
n—seeo k; n? + k2 f@) 1 + cosx reild)
- -y
f 2 f 2
a a
B: il N = JE
r(3)(3)
c: J3 [EJ _ [E)
f 2 f 2
a a
- /B)-af
7(3) = (s
Topic: Mathematics-Section A
Item No: 11
Question ID: | 100111
Question MCQ
Type:
Question:

d ;
ay + 2y tanx = sinx, 0 <x <g Fvvlalosy) y[g) =0 wand, y(x) Gw¥) KOH Dend :

1




B: E

4
C: l

4
D: E

3
Topic: Mathematics-Section A
Iltem No: 12
Question
D: 100112
Question
Type: MCQ

Bothyen (1,2) pBaw (—2,1) Dok trore HBdwe dwdo 14 @(ﬁ)gé.p, P oths) Bethenedod.
Question: | x-©Fod A, B dothde ég »oldx, y-»god C, D dothie zﬁg Po&Ie , P Dothsy cib:é&
DothHEo f(x, y) =0 08, YD F0gheso ACBD @nE) 38°e50
A: 2
2
8. 317
2
c. 3417
4

D: g
Topic: Mathematics-Section A
Item No: 13
Question
D: 100113
Question MCQ

Type:




y?=24x So°50dPI8 (a, B) oo 5¢ (&5 K)o)é,géaa, 2x +2y=5Bpd woworm
2 2

Question: | &otisiod. OF)as) :r_z = [];_2 =1 0830°00diI8 (a+4, B +4) Hothsh I8 wdeoo S
o
@ oD Ko I :
A: (25, 1[])
B: (20, 12)
c: (30, 8)
D: (15, 13)
Topic: Mathematics-Section A
Item No: 14
Question
D- 100114
Question
Type: MCQ
Question: (1, 2, 4) HothPH howe 8P DB x+y—z=0=x—2y +32—5 098 SSrosbore &)
| B9 (1, —2,5) Do) Hod Ko eowdy FPED :

A: E

2
B: 2

2
C: E

2
D: 1
Topic: Mathematics-Section A
Item No: 15
Question
D- 100115
Question MCQ

Type:




= &
Question:
— —
a X b BnE) B0 30 ®ond o =
A: E
2
B: 8
C: E
2
D: 7
Topic: Mathematics-Section A
Item No: 16
Question
D- 100116
Question
Type: MCQ
S8 DG 4 4 2 1= %
Question: B0 DJBes B DgigEoo B A8 DI o BT 3 P(X=1) T oD,
P(X= 48ce 5) =:
A: E
9
B: 6_4_
81
C: E
27
D 145
243
Topic: Mathematics-Section A
Item No: 17
Question
D- 100117
Question MCQ

Type:




2+3p 2-p 1-p
P(Eq) = , P(Ep) = —= 08050 P(E3) = —= e@xén E,, E,, E; @0 S80S 506
Question: (E1) (E2) 8 (E3) 5 ‘ﬂé N BBy N0 Y
sotaden @%8 8. p Go%) 103) B B Denden p, HBAW p, o, Py Py =:
A: g
3
B: E
%)
C: E
4
D: 1
Topic: Mathematics-Section A
Item No: 18
Question ID: 100118
Question Type: | MCQ

S={0e [0, 2] : §2sin”0 4 g2cos®0

16} @808,

Question: . -
@ n(S) + Y| sec [— +2El] cosec [— +2El) =
4 4
feS
A: 0
B: -9
C: -4
D: 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119
Question Type: | MCQ
o i -1 1
Question: tan (21: 1—+se 1—+2tal‘11§}=
A: 1




B 2
C: 1
4
D: E
4
Topic: Mathematics-Section A
Item No: 20

Question ID: 100120

Question Type: | MCQ

Question: @’jé@é (H(P = ~q)) | &‘-}3&):

A: 2.8 f{)éé éég}
B: 2.8 DKHESE
Gr—=
C: P = q) A q 8 Jdo&éexgo
D: P> q Ap S Jdego
Topic: Mathematics-Section B
Item No: 21
Question
D- 100121
Question .
Type: Numeric Answer

Y P g reR 0B, oo a8 S B, (p?+ )2 —2q(p +r)x + 2+ 1r2=0 $EpEBes

2 2
» +r
Question: | », cvsex Kapero, ¥2+2x—8=0 SHESPIE Erme Lore0 WONE, SR \ab) 1 -0 B

Topic: Mathematics-Section B

ltem No: 22

Question ID: 100122

Question Type: | Numeric Answer




Question: ®o3e 00 36 @(ﬁoéém 5- @080 TP 5-‘::335&:0 )
(W] 8] —0

Topic: Mathematics-Section B
ltem No: 23
Question
D- 100123
Question .
Type: Numeric Answer
Questi 3 &boéé $S Modere [_éeaoe:é), Ddab&en {3}, {6, 9,12}, {15, 18, 21, 24, 27},. . . ™ gFRoweL.

uestion:

o 118 JDAS® ®Q) dreste Ingo =
Topic: Mathematics-Section B
Item No: 24
Question
D- 100124
Question .
Type: Numeric Answer
53 _ 22 _ 3 _ A2 _ _1—0 % « «

Question: | =¥ —x+1) +x (32— 422 -2 +4)-1=0 3EBm DPE) 8P Lorere Joyyg
Topic: Mathematics-Section B
Iltem No: 25
Question
D- 100125
?ues.tion Numeric Answer

ype:
Quest (1+x)P (1-x)%, p, q = 15 DS x B 12 Keassren SHSP —3 HB0H —5 wand,

uestion:

3 Bw¥) Hedo =
Topic: Mathematics-Section B
ltem No: 26
Question ID: 100126
%Jpees:tion Numeric Answer
1 1

Question: | n(2n + 1) IO (1—x™)2" dx = 1177 .[O (1 —x"?"" dx | ©ond, neN =

Topic:

Mathematics-Section B




ltem No: 27
Question
D- 100127
Ques.tion Numeric Answer
Type:
y=y(x) SEo (3, 3) Doth) rbore PPe&hHod HdA & HEo 8o, r-wfo S HBIH
3
Question: | x- QEHdsPen 3 HBAS® x(>3) a‘ncﬁg S350 [%J 0808, &% SBo 30eEd o0&t
(a, 64/10) Dot Hom Erme S0, o =
Topic: Mathematics-Section B
Iltem No: 28
Question
D- 100128
Que§tion Numeric Answer
Type:
ABC [_Eaa*bea AB, BC 508050 CA ghere $&nEBemoen Sodre 2x +y=0, x+py=15a 0BG
Question: 1
x—y=3. @ (@gbe: wowBolBo (2, a), 5 <a<2 ®owd, p =
Topic: Mathematics-Section B
Iltem No: 29
Question
D- 100129
Que§tion Numeric Answer
Type:
f(x)=2x2—log,x, x > 0 (HDcHo (0, a) &* @56%5mo B (a, 4) 8&6%rwo BB
&508&. y2=4ax doeHecho 3.326326& P 8ot é@ égt%éaa (Ba, 8a—1) HotHd ot FHod
Question: 1 x .y
5o [— P 0) BothN) Howe 8. P58 edeoo B H88es0 Py + E =1 wowd a+p
Topic: Mathematics-Section B
Iltem No: 30
Question
D- 100130
Question

Type:

Numeric Answer




x+1_y+2_z

P(4, 2, 7) DotHs) Ho& 26 ey Sredost 5 3

-1
> 3&39_3 KDK&BOC&)

Question:
DotHHen Q H8am R eosiol. @?’.QDC.‘.J PQR (&28hez S0 o?ooégT Ef:c:;)So (0°Qe52 e:eSé)
Topic: Physics-Section A
ltem No: 31
Question
D: 100131
Question
Type: MCQ
M=100 kg, m; =10 kg 0B m, =20 kg ©d NoreH @Sé?gtbﬁéoe:é) Headone® INOLESINT
©HP)TH. ©) DS HEHBD HOBN roren BIBHD HOA FPHOAHBID. Een
Eroe BOBID HHOAH HEHBND. m, (BB 2 ms? SBeind® D8 SEeirdd
(D@BrA0BNORY e F:
Question: (5=10 ms~?)
mq =10 kg
F
—” M=100kg | | m,=20kg
A 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Iltem No: 32
Question
D: 100132
Question
Type: MCQ
2.8 BEBr 6 MHz $v805%0 10 MHz 0G5S DFET é.15°§5 3%&5}&. ©ond U8 Ho20dHodS
Question:

ééoﬁ@_% eaﬁéoﬁi)g :




A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Item No: 33
Question | 100133
_CI_);pe;tion MCQ
| 2.8 3&@?@6&% émg@ & geaoé‘s@_m 38R Dodrden 2l IKS0S® 4250. 10 .o Soxd
Aueston @8 IQBK0SE 2250 8 $rBSE. woNd PR EIO FT0EE0 : (log1.88=0.274)
A 0.02 min !
B 2.7 min 1
C: 0.063 min ~1!
D: 6.3 min 1
Topic: Physics-Section A
Item No: 34
Question 409134
_?;pees:tion MCQ
. 900 nm S8ori@gsskn sdaky 100 Wm 2358 Ko a8 $8rosds o8 Howdn wonorr &
aueston 635080503 HE5H0s. 1 cm? e eonore ré KON FrerSe Kogg (8 DB :
A: 3x10%e
B: 4.5x1016
c: 4.5x 1017
D: 4.5%10%0
Topic: Physics-Section A




ltem No: 35
Question
D: 100135
Question
Type: MCQ
4
2.8 0Hoh 20 (HRrKENE DL 3&ey) 12 mm. 2.83¢ Sdo ©HBED 3 SEe558 Hoeassm
Question:
Ko HBS ¢odS éé}g égé 565&1}03 mm.
A: 16
B: 0
C: 48
D: 12
Topic: Physics-Section A
Iltem No: 36

Question ID: 100136

Question Type: | MCQ

2.8 80 DEEEHTN0E SBoNENER wahIed FEk0
Question: B =2x 10~ 8 sin(0.5x 10%x +1.5x 10!y  T. m™ axwaLe.

wond IS XS & Eol HOWS :

A: 6 Vm 1 along x-axis

B: 3 Vm 1 along z-axis

C: 6 Vm ! along z-axis

D: 2x10~8 Vm ™! along z-axis
Topic: Physics-Section A

Item No: 37

%feS“O” 100137




Question

Type: MCQ
a8 LR (38 Sochiwe® X =R H8c» HH6 sb8sm P, wond X =X, @bt a8 C
Question: P
Eodimnie g4 Behs® 36‘35 HB5 EESD P, ©ond é e :
A: l
2
1
B: —_—
J2
C: ﬁ
J2
D: 241
Topic: Physics-Section A
Item No: 38
Question
D: 100138
Question
Type: MCQ
2 DS S DEBB wohImos o (21 +3]) T & Eoesind. 053¢ oo
Question:
M M
SeBeasion (rxi — 4}') ms 2 ®ondSP o Dend :
A: 3
B: 6
C: 12
D: £
Topic: Physics-Section A
Item No: 39
Question
D: 100139
Question MCQ

Type:




a8 DS (Darsraod EOA Aoy Doth X Hddo Y éﬁé;ecge: S0l Dothde dE ro
Question: | ©AHIYOS FSmen SEIM By H06M By. 2.83¢ X agegsin 20 cm, oS Sty Soag 200

FOA Y g5 20 cm, RSN Sty Somy 400 @anS By 0 Bye ya

A 1 s
B: 1 &2
C Zoarg
D: 4:1
Topic: Physics-Section A
Iltem No: 40
Question ID: 100140
Question Type: | MCQ
aSaS SoHENE® Dks (B 1 Deod :
4 ()
VWV
20 4 ()
Question: VWA YAAVAY VW
4 () 4 ()
I}\. VYV YV VY
£
\_40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A

Item No: 41

Question
D- 100141

Question
Type: MCQ




C,=1pF, C,=2 uF, C,=4 uF $086m C,=3 pF 55800 $OA o) $5r088 $o@med
Question: | 35300 2 o oo DSBS :

20V eaﬁééaéﬁ) JoBPELDED BOHTE @SEHnEm)
A 200 pC
B: 200 C
C: 10 |LC
D: i o o
Topic: Physics-Section A
Iltem No: 42
Question ID: | 100142
Question
Type: MCQ
Question: Q[BY @mégé Hoddn Zﬁcﬁnd:-:écl 2.8 Beasy 0, %;zs@oéo [;.’ac?bciﬁaom ADS (™D :
A: QBSeE0
B: &% Byzeses

ad —0

o DXgI LS
D: 3588 BHH
Topic: Physics-Section A
Iltem No: 43
Question
D- 100143
Question
Type: MCQ

25 Hrssn 53 o8 7 Breo DESEETE 6By oD @08 GRPHSE HIHe 40K,
Question: | 2,8A06. s Q.’)L_éciﬁaeﬁ‘s STPO30) cfmé& @oécéé 5§e36f{) H0Ge

(R=8.3 JK-1 mol_l)
A 5810 ]




B: 3486 ]
c: 11620 ]
D: 6972 ]
Topic: Physics-Section A
Item No: 44
Question 100144
1Q_;Jpees:tion MCQ
2.8 DE HESmeans T HkSsm P HOcin $05505measn V DS $o80BER &5 IS
ueston: oBHBETeENS® 8 ok hob. oo 8 $Hessm, %6 ol 5
A P
B: 8P
C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question 1 100145
_?;pe;tion MCQ
1cma§$°gzﬁn Ko 2.8 DB DothHHd 729 5kreS Q) Dothyeorr JETET. el 3% D& seo
Question: 358 75 dyne/cm wond do B DS 08B $IH 3{;:65’:03 XD :
(r=3.14)
A: 85x1074]
B: 82x104]
C: TB¥107% ]
D: 5.3x107%]




Topic: Physics-Section A

Item No: 46
Question ID: | 100146
Question

Type: MCQ

& 6ddSwow 32 km 2&H% 5@?326 2.8 O°8¢5 GE) 2B%HED S FEKW :

Question:
(45> TS0 =6400 km)
A 1 %
B: 3%
C: 4 %
D: 0.5%
Topic: Physics-Section A
Item No: 47
Question 1 400147
1Q_}l/.Jpees:tmn MCQ

2 Nm™! dorosiin o [)ohss HOBS® Srdden Totd HEES 250 g (BSHgTDen Ko
&é}é&:ié; EOH%. BoRoBE IS Jdnd v éé@éé (3TN 0338932655 @Joﬁ &8 ﬁ&g

Question: Sersies

250 g 00000 —250¢

(il

22
B: E
2
C: E
4
D: ¥
| V2




Topic:

Physics-Section A

Item No: 48
Question
D: 100148
Question
Type: MCQ
50 kg (©ao°8 Ko 2.8 8% 350N B8 (T) éé%gésﬁ@ 2.8 (@ (@8oh. DRGNP TN
Question: | geieaiton 4 ms™2 $BAH0 AEYIBPL D SWeedm» 5 ms~2 wowd DB $BBH
(g =10 ms~?)
A T=700 N 28 d%)50
B: T=350 N (§obh& 2br035DE
C: 28 QENIH ([B°ed SNDPEH06
D: Bob BRLNPD (Bt B8AD0E
Topic: Physics-Section A
Item No: 49
Question
D 100149
Question
Type: MCQ
é@aaéwés 30° £08a50 45° &Peamen 3"‘\13 Ho1S Botd [;.’Jgés*’en 28 $%cHEns’ ﬁ&‘g DHB
Question:
BHHHD. B &9 Irre QS :
A 1:4/2
B: 241
C: J2:1
D: 1 82
Topic: Physics-Section A
Item No: 50
Question 100150

ID:




Question

Type: MCQ
a8 0.5 mm &S Ko E\’m&ﬁﬁﬁj 6.8 cm EHRe L6 &K D) TBS0 EPenHerdd
SHBPACITL. (HEPS eo Fod 1.5 mm e HOcHH HBPEE e Fodd 7md §808.
Question:
ONS JBEDH So @_@e{g&ﬁw ézéaﬁ";ég_@&% Eﬁgé ;\/)O&}?Sél HNHBoVS Jend
(EGP&?'&@ {EeseY eo P 50 grrrenR)
A 6.8 cm?
B: 3.4 cm?
C: 3.9 cm?
D: 2.4 cm?
Topic: Physics-Section B
Item No: 51
Question
D: 100151
_I(?ues.tion Numeric Answer
ype:
2.8 @’Jé‘é.’)é‘@ &0 &8s Jr08B N ($353een DOF ? 080 & (g0 a‘m{é@ 5808 s
Question: _ A
y=5x(1—1) ®ond T & IKH y LoIFEw ].
(=10 ms—?)
Topic: Physics-Section B
Iltem No: 52
Question
D 100152
Question

Type:

Numeric Answer




1 kg (55078 8w a‘gﬁmga‘m R EOAS 2.8 %) oo So(Ssw e §8e VXr0BS ©Fn
éar SodH woBorT f)g:iarw BN, o8 (BXe Ko el DD @ DY ooy
©&08 I& DY DACITH. BHP & HHod DEDDEB © 3% s Bobd Io5HB

Question:
SdoHh 38 4,,,% rad s ! @cwd x=
(g=10 ms~?2)

Topic: Physics-Section B

Item No: 53

Question

D 100153

_I(?ues.tion Numeric Answer

ype:

1 m PEHKe 2.8 B &h)é& oHoh e EHitd 2.8 @’Jcﬁﬁﬁaﬁmﬁé 1kg &% 3
FrHBod 04 mm e SOVTH. T ©IBBSE = 0.02 mm. X FgRHE®H = 0.01 mm

Question: | @BES0S® 0.4 mm ™ VAT, 0HoR SN (AY) Feoshbdrs®™ &8 dno
x %1010 Nm =2 %879, x end
(=10 ms~?)

Topic: Physics-Section B

Item No: 54

Question

D- 100154

_Cr)ues.tion Numeric Answer

ype:

$5640% 32 SFIY 2.8 2 o_tbaée7 ?’.JEGJCD_ %“é:‘@égaﬁ)) 100 Hz $50805 $5680%9 mé.néa:ég_‘éo)&

Question: | 2rs: 9w 50 Hz 2.8 3¢ 50808 S6H& Shendod aod rs:Hign % Hz @008
x=__

Topic: Physics-Section B

Item No: 55

Question 100155

ID:




Question

Numeric Answer

Type:
28 Doding Jdrods Hode é&‘n«%é’) Boky 33563 oodsmen (t; oA t,) Ko Bok 33563
ém‘*gaﬁwe@s 3@5)83% (‘()Sscﬁéa‘me::éo Heodne® 5028 QYore é@ﬂcﬁwé&&. 3ot 33363 KJESSCﬁéa‘meD
a8 @éﬂéés@ A0 F& 3% Tahads. abgﬁésé‘@ A5 &h}é& Ssgé V.
Question:
€r, =3;t; =05 mm N
er, =4, fp=1mm T
Topic: Physics-Section B
Iltem No: 56
Question
D 100156
_?;pees:tion Numeric Answer
HES0S® 0% AHore K)E‘:‘scﬁeﬁmu;ﬁ) e @geﬂ‘s D, DoHed 8D I D 40 em e
BOATE. 2.8 BO0HA JB S ‘v K P & (BB Z0DIHK o8 BB Hod TOY &Y
50505 FPEDH 80 cm P BOITH. Wand ¥ end Q.
Question: —I_
C
Topic: Physics-Section B
Item No: 57
Question
D- 100157
Question

Type:

Numeric Answer




08 JED AP R I S Seoahw &5 (Herard)s DERS (Haredm I A.

80 20 mH 6§LF 4Q 50mH 8Q
WW—— 5588 {1 YWW IEEO—\N
|| WW || VWW |1 WW
1Y 05uF 10 08uF 40 0.8 wF 3.4
o)
)
220V
Topic: Physics-Section B
ltem No: 58
Question
D- 100158
_?;pees:tion Numeric Answer
1 1
2.8 ézég_éﬂ Bogrsed 868 aﬁepﬁéoéééaﬁmé) E2ofPd060% Herost rﬁrﬁjzééwm ; SBaA3» . ()
éncﬁé ACHB56. [ed Beassdn cﬁné& 56[_%&5&‘326 e85 1.5 sH8aS» Toh Sodwe HEse
5B (R) oondS R Dend cm.
(88 w=850 rdo, v=(H&8oa &r&o)
JLY ]
Question: A ~(ecm~1
Lo10 ¥
4 0.08
1 0.06
1004
1002
a B L i L L
X —0.10 —0.08 —0.06 —0.04 —0.02 1()
1 (em-1)
)
Topic: Physics-Section B
Iltem No: 59
Question
D- 100159
Question

Type:

Numeric Answer




28 TEeS $EH0508° BiHS DTS Isd Yoioes Te @) ESor@gsso A, 2.83¢

Question: | FeHS DEVSE® Loetsss VoEes T LB e WETEL Botss VoEoes Type SBorgLsEme
8° “a\”’ ®ond a Dend

Topic: Physics-Section B
Item No: 60
Question ID: | 100160
Que§tion Numeric Answer
Type:

BRES SocHIne® $56 EBrE KOR DS (Hareessn mA.

4k 1 I
Question: WWA—> -
Iz
(100-120) V /—Z V,=60 VS 10 kO

Topic: Chemistry-Section A
Item No: 61
Question ID: 100161
Question Type: | MCQ




0% -1 0 -1 & 23855835084,

ﬁ% -1 8% - 11
(353:3*@' RD0) (%)8)
(A) BrF, D) Ho8s
Question:
(B) [CrF P~ (II) SSBD DEWES
(C) O, (I11) @5‘5265 BREES
(D) PCl; (IV) oHHes
Bod 20)sPe 008 VO SSrEETeRY 5)5301550&.
A (A) - (1), (B) - (D, (C) - (1II), (D) - (IV)
B: (A) - (IV), (B) - (II), (C) - (IT), (D) - ()
C: (A) - (I), (B) - (IV), (C) - (I), (D) - (1)
D (A) - (), (B) - @V), (C) - (W), (D) - @)
Topic: Chemistry-Section A
Item No: 62
Question ID: 100162
Question MCQ

Type:




OF -1 0F - 11 & 28508,
EJ% -1 EJ% -1I
(Dares/Stsen) (6(8)855)
(A)  250,(8) +O5(g) — 25054(g) () Fe(s)
Queston: (B) 4NH;(g) +50,(g) — 4NO(g) + 6H,0(g) (I) ~ Pt(s) - Rh(s)
(C)  Ny(g) +3H,(g) — 2NHj;(g) (L) V505
(D) LSS (1) +Hy(g) — HE Sowg(s) (IV) Ni(s)
(Vegetable ghee)
Bob wse H0d BOEH earanid X ol.
A: (A) - (L), (B) - (D), (C) - (1), (D) - (IV)
5: (A) - (11D, (B) - (1), (O) - (I, (D) - (IV)
C: (A) - (IV), (B) - (ILI), (C) - (), (D) - (1)
D: (A) - (IV), (B) - (1), (C) - (III), (D) - (I)
Topic: Chemistry-Section A
ltem No: | 63
Question | 100163
_CI_);pees:tion MCQ
(Bol Both DDHTeaen BRE0ED.
DEBe-1: Cl, oewHS’, EaBod5 STgeg i, P88 HLwem TGI8 BoDH ¢0otood.
Question: | D&Bea-11 : JSATPS o8 agﬁgaﬁn AYIPET T Jowohd ¥ (parent) HBe a*;g@téo
S0B LRI B0nod.
w¥08 S5 (appropriate) save D& ?
A: DRV -1 08T5n ARVea~1II Bodkr HBTK.




B: ARV -1 O X8-I Boikr JBFHID o).

c D58ea-1 HOFHB 2R SBe-11 $OGHG S,

D: D58ea-1 $BFHB 5% 50 DSBea-1IT HOFKB.

Topic: Chemistry-Section A

Item No: 64

Question ID: 100164

Question Type: | MCQ

Question: N8 ée‘}(fﬁééﬁa (]jquation) .-8‘5{55 ég@ o) E‘Saﬁf‘.)é} SASD ?
A: ©o) ([BDLFSD JoT°e0) e

B: 068 (5DEHS égmenécl SE 5t

c: ©6% DG TIES &%) e

D: SoOTeE08, (Saeed® (melt) EEDH LD e
Topic: Chemistry-Section A

Item No: 65

Question ID: 100165

Question Type: | MCQ

Question: | (Bo® *BS* D& H,0, dBrrrR) I°GoiHes eIBPAID ?

A: [orbhitolonsi

B: FOYDTPE

C: 88 exno

D: [B6SbS

Topic: Chemistry-Section A
Item No: 66

Question ID: 100166

Question Type: | MCQ




LiAlH, & BeCl, S5S°08 m3)35 :

(A) AICL,

(B) BeH,
Question: (C) LiH

(D) LiCl

(E) BeAlH,

HOGN waran & ?
A (A), (D) 8 (E) S0
B: (A), (B) 508050 (D) Sm(&3d
c: (D) 0805 (E) L@
D: (B), (C) &80 (D) £
Topic: Chemistry-Section A
Item No: 67
Question 400167
Questi
9 ;pe; ion | ica

SEESK BTeTRE BodS @ &8 ©otrt, HAV S6irs Foherd 3-Hexosre “X” HBGH
Question:
6-Sergoseo Y’ o SErHoSI8RH. “X” 08 “Y” oo SIS :

A B(OH), $0860% NH,
c B,H, 805 HN,
Topic: Chemistry-Section A
Item No: 68
Question ID: 100168




Question Type: | MCQ
Question: Bob SBgoS® DB wdHIPS (disproportionation) S8y S ?
B: 2NO, +H,0 — HNO, +HNO,
c MnOj + 4H* +3e~ = MnO, +2H,0
D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
Topic: Chemistry-Section A
Item No: 69
Questi
Dot 1100169
Questi
g ;pees: ion | \icq
o) DH5os® ed8 eHo wodEFEH0s® KMnO, @y mg st (dark purple) Sord
Question:
O EHHon. Srord od)ssn Sons® Fngo SrEp dod ?
A: 5
B: 1
C: 7
D: 2
Topic: Chemistry-Section A
Item No: 70

Question ID: 100170

Question Type: | MCQ

CLECHy — K48

Question:

D TERS8e SEE° A $8050 B en D ?

A C,H, %8ci» CL,




c: CH, $6a» HCI
D: C,Hg 08a3» HCI
Topic: Chemistry-Section A
Iltem No: 71
Question 1499171
Questi
T;Jpe‘:: on MCQ
100 mg p-3E°HTS B0 HEE wFy MEFSrY Sthicmed Bod HFSws® BID Snggore
Question:
SITFEATD ?
A: 23087 ?)scﬁéa’m
B: 2-5 ehide PEHY), VO RO sPe
c: GBS B
D 25885 TLC (4 b
: (23 TLC (I P8 (B0 (o)
Topic: Chemistry-Section A
Iltem No: 72
Question ID: 100172

Question Type: | MCQ

Question: BB PED Do EDF/DHE® HeS Se Fod SoBeasd
A BuSrgr8o (substrate) &° e&KBochorin

B: (T°5e8 (Gosoeads

C: 'ﬁ)iga'gj (@P8HOE AB)DL

D: [Slovsinilets) ae:gfmas ESEaRNENY)

Topic: Chemistry-Section A

Iltem No:

73




Question ID: 100173

Question Type: | MCQ

Question: @o&aﬁ&@‘s D8 HEFLeBE % ?

ot

Topic: Chemistry-Section A

Iltem No: 74

Question ID: 100174

Question Type: | MCQ

Bob SBS® DY BoSreTgen A LHOAH B en 2 ?

Question:

Ag(NH.),]T OH NaBH
[Ag(NHj3),] g Ay oy

K=

H CHO




o H OH
A: - é - @
H  CH,OH H  CH,OH
H OH H OH
B: - @ - @
H CHO H CH,OH
L H OH
C: - é N @
H COOH H COOH
2 H OH
H COOH H CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question 1409175
Question

Type:

MCQ




2.8 IS HIS Dfacho (& (PhMgBr) & (808 we)Fen H AGHD BoirediEim 6 ?

Question: lrh
Ph— (IZ —OH

CHg
A CH,-C=N
B: Ph—C=N
@)

C: I
CH;-C-0O-Ph
Ph—C—CHj

D: Il

@)
Topic: Chemistry-Section A
Item No: 76

Question ID: 100176

Question Type: | MCQ

808 SB6° (S (Bosresdgin D6 ?

OCH,

Question:

O,N
(i) Na/liq.NHj;

(ii) CH3CH,OH

OCH,

O,N




OCH,

H
B:
H,N

OH
C: 02N4©

OCH,4

H
D: O,N
Topic: Chemistry-Section A
Item No: 77
Questi
Dot 1100177
Questi
g ;pees: ion MCQ
Bob KaHE’dabo ofeEro KOS RBES Esn DB ?
+N,Cl~ N Cl~ Nj Cl—
NEEl-
Question:
(A) (B) (©) (D)

A (A) > (B) > (C) > (D)
B: (A) > (C) > (D) > (B)




C: (©) > (A) > (D) > (B)
D: (©) > (D) > (B) > (A)
Topic: Chemistry-Section A

Iltem No: 78

Questi

ID‘feS 'o" 1100178

Questi

¢ ;Jpees: ion MCQ

Question: | YOHOE epw HBIW FOuHOS feden $ET0H Bod O Eepsd3®® (detergent) O m°0m ?
A B&05E SIFEL®

B: 52&333

C: ey 1] Bepss*s

D: TR ~935E é@éﬁ{ﬁﬁ
Topic: Chemistry-Section A

Iltem No: 79

Question ID: 100179

Question Type: | MCQ

Question:

Bod TBS® D& EoHsde $8)% (reducing sugar) ?

OH

iy

H—C
H-C—-OH
HO—fle—H (@)
H—(|30H
H-C

|
H




HOCH, | H
. H H
H OCH,
OH OH
HOH,C . H H _ CHOH
N H #l  fo H
H H
OH OH HO OH
OCHj
H OCHs;
H OH
D: HO H
H OH
H OH
CH,OH
Topic: | Chemistry-Section A
ltem No: | 80
Question | 100180
Question |41

Type:




8085 Both DSTeaen aHWESD. 2. BPAY GBS (A) ™D, RSB Ve (R) o

JeDoTE).

YL (A) 1 IO Hbai e AlCl; ev CHCl 8 @B@rreds $858° o H8co

Question: p-08S J0OSeH B3,
S80s» (R) : DS GwoE), — NH, $Srirdn omrg AlCl, & om0 868 A88esssnd®os.
©otXd m-HS ©IDT Boirago B KSO.
D DD8ee0 errdorr, (Bod ad)ste Hod HBFES SLBPERTeRY, ddpsod.
A (A) 5080 (R) Bokr HOIDSD HBAM (A) Bw) KOS dS8es (R)
B: (A) $0B0d (R) Bokr $OGHHD D (A) Eo¥) KOS D8es (R) S
c. (A) $BG@EB = (R) HOFDHH %
D: (A) 5B@H8 2% 52 (R) $OTIS
Topic: Chemistry-Section B
Item No: 81
Questi
Dot 1100181
_CI_)ue§tion Numeric Answer
ype:
©BHY) JEro Ko (crush) 1D Doliiseewo oD DBS® EBA0HD 48 ppm Mg Ko
2 L ([@reR) S50 BB, & (TeSesos® %) Mg D85reodo Sogg xx 102, x Dewd
Question:
(é§6 ?’.gfc;oém)
(23D : Mg H8&5re0 grdo 24 g mol ~1; N, =6.02x10% mol 1)
Topic: Chemistry-Section B
Item No: 82
Questi
Dot 1100182
Question

Type:

Numeric Answer




%S H0oo edjmSe MFHES? groegigore 40% S Boh, EHSD Indsw

Question:
HE5SS0 2.2 bar waSHEH TEE RS S Hesssw bar. (5158 Fropossn)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100183
Que§tion Numeric Answer
Type:
QO[PS Ko, &rgerS IR x Béy Lo, V(TS 00 Ky SEorggso
Question: | A&PS0HBHOD. x Dend ; (céféﬁ ?’.gjvcgoém)
QU B55o°8 9.1x10 3! kg %0800 &egerS ($¥5o8 1.6x 10~ kg)
Topic: Chemistry-Section B
Item No: 84
Question
D: 100184
_?;pees:tion Numeric Answer
298 K %0800 1 atm HE&S0 $§ 24 g © EE% arod 36°6wEE 048 68 S $Hgos®
Hodomd. 86°6300E &RPKS 298 K o0& 300K % 28A0k. 565 50080059 domed)s®
Question:
&8y —x K mol L. x Qend (5558 SrTRotsim)
(23D erodS 88588 z%gz;wéea 20.0k] K1 &5 eodre SRS ?6@5 ©d 9 LHAN)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100185
Question

Type:

Numeric Answer




800mL © 05M IBE espod &8 H55HE® F&Bchre e HBDBETBO BT SAos KB

115 g © B o Fra)gsiso Bobod. DAY &) ISE ey (S, ™S ¥ x 1072 M.

Question:
x Deod (86 HrTpossn)
(BIBE exyxh) Irerd (Kk50°8 63 g mol 1)
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100186
1Q_ue§tion Numeric Answer
ype:
298 K ég Eod SE& ?651)@'“%@ ?gcboém 2 x 1015,
Cu(s) +2Ag™ (aq) = Cu®*(aq) +2Ag(s)
Question: 1 1
©on3 E(:112+(aq) + Agls) = — Cu(s) + Ag™(aq)
B éé}@ﬁ%}:@ ?gmoéeﬁw rx1078, x Dend . (Cﬂf‘é@ ?’.gyoq;oéé»)
Topic: Chemistry-Section B
Iltem No: 87
Question
D- 100187
_?ues.tion Numeric Answer
ype:
Fe,0, 5008 a8 3rS 085 Fothbr® sodedd oo F (Faraday) o8 $88@wmo
Question:
. (8158 Sropossm)
Topic: Chemistry-Section B
Item No: 88
Question
D- 100188
1Q_ue§tion Numeric Answer
ype:




A - 2B+C 36, A mgd 0.5 0d5o 1.0 mol T4 & @U;dfme{g)&n HBdre 100 s

Question:
0BG 505 HEYESroESID . (588 Sroposim)
Topic: Chemistry-Section B
Item No: 89
Question
D- 100189
Ques.tion Numeric Answer
Type:
Questi [Co(H,0)4]Cl, 8050 [Cr(H,0),]Cl, © 2)S &r(@a echmes (grissne 3o (difference)
uestion:
Topic: Chemistry-Section B
Item No: 90
Question
D- 100190
1Q_ue§tion Numeric Answer
ype:
SrEod $%0508® BodS Cl, 8° SETob [Buiradgo X d afHyd. X &8 &) E°=Se
Question:

éoa:g




